Unit 1 Honors Study Guide Name: M—\

Matching: Classify each function on the left with its description on the right.
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/ Geometric, Explicit

Matching: Match each sequence on the left with a formula on the right.
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For each table below, determine if the sequence is arithmetic or geometric. Then tell what the constant ratio or
common difference is. Come up with the recursive and explicit functions for each as well.
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9. Below is an arithmetic sequence. Complete the table with the missing values.
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10. Below is a geometric sequence. Complete the table with the missing values. Is that the only ratio that works>
Why?
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11. The first term in a sequence is 8. The sequence decreases by 24% each term. What is the recursive equatio

that will represent this situation? A‘l-:'s (= ,w-zq ibu__) : ?‘o

A =B An=Anx0.H0

12. The end of a spring is pulled as far back as it will go and then released. On the first bounce back, it extends 54

cm. On its second bounce back, it extends 18 cm. On its third bounce back, it extends 6 cm.

a. How far does the sprmg extend on its 8", 9" and 10™ bounce back?

8" <y( 3)%4 =] 9t 0™

b. Is this scenario Arithmetic or Geometric? How do you know?

Gtomurric ble raho=4%

c. Can you write the recursive and exphcut formulas?

/Rﬂ/ A=Y An=M-X§ &0 Mn= 5‘1(3)“-'

S Sequence: 1, 4, 16, 64, ...

| IE ” 17. Type of sequence: __(Z¥OMEATIC,

) 1 15;. Recursive: &f" Aﬂ"ﬁn—-l X4
‘:E e 19. Explicit: An= “‘-I )“‘,

14. Type of sequence: Arhmet n'g:ﬁ

15. Recursive: &,’ 3 An‘-i An -

16. Explicit: An’ﬂ‘3‘!!',!
9-3n+3




»0. Error Analysis: Who is correct?

Caglie igd Jisseph are trying to find the common ratio, recursive formula,
—5,—15,—45,—135, ... Their answers are provided. Is either one correct?

‘—f‘j—:

Callie’s Work
Common ratio: --5'- = \/
Explicit Formula: a, = —=5(3)™1 v/ Explicit Formula: an =

Recursive Formula: an = 3 an_1

Recursive Formula: ap =3:ap-y @3 = =5 v

Explanation: r"
Ha raho for the Lxphat.
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falling object falls in each second, S

tarting with the first second, is given by the

21. The distance (in feet) that a free-

arithmetic progression 19, 57, 95,

distance that the object falls

—-M £3808) = [Sl/ﬂr]

22. My 12" term is 128 and my 15" term i

3. Am | Arithmetic o

b. Constant Ratio:

s 16. | have a constant

7 h=
d. Explicit formula: e. FlrstSterm e:
n-1% 2(011"” 3
(5) 3

ursery has 1400 lilies to sell. Every day, the number of lilies available decreases by 70. Write an explicit

23. Alargen
cumber of lilies available to sell, where n is the number of days aft

formula for the er April 1. Then, find the

number of lilies that can be sold on April g™ 9"‘, and 10"

w Let'schange back and forth between forms!
24. Given the recursive definition, write the | Given the explicit definition, write the '
explicit definition. - recursive definition. 5(,1) 52

a, =5(2)" | ‘




